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$$ dpli]= \begin{cases} &\text{sum}[i]l&i\le k\\ &max\{dp[j-1]+\sum[i]-\sum[j[\} &i-k \le j\le i,i>k
\end{cases} $$
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#include <stdio.h>
#include <iostream>
using namespace std;
int n,k;

long long e ;
long long dp ;
long long sum ;
int g ;

int front=0,tail=1;
long long a(int now

dp/now-1]-sum|[now] ;
int main
scanf("%d %d",&n,&K) ;
int rec=0;
int i=1;i<=n;i++

scanf ("slld",&e[1i]);
sum/i|=sum[i-1]+e[il;
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int i=1;i<=n;i++
front<=tail&&q| front <i-k
front++;
dplil=alqlfront]|)+sum[i];
front<=tail&&a(qltaill ) )<=ali
tail--;
q ++taill=1i;
long long ans=0;
int i=1;i<=n;i++
ans=max(ans,dp(i]);
printf("slld",ans);
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